LaGrange Symphony Orchestra Auditions Fall 2024
CELLO

Solo (exposition of a standard concerto movement or similar)

Borodin Symphony No. 2 in B minor

1* movt. Reh. A to 13" measure of Reh. A

1* movt. 5 measures before Reh. H to 9" measure of Reh. H

1* movt. Reh. M to 7" measure of Reh. N

3“9 movt. 1 measure before Reh. Kto Reh. M

4" movt. Upbeat to reh A to 16" measure of Reh. A

1* movt. Reh. A to 13" measure of Reh. A
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st movt. 5 measures before Reh. H to 9" measure of Rgh. H

pizz. b,’_ . ba ~ barco
Ty e | e ey ====2
——— — - —1
S P nf
Animato assai. —_
> . e —~
£ RRpl,, et g—h 220l g 008, —H - -
z Eid ~ 4 B SN S O S - 00 S S e | ™ 7 ™ 1=
AN i' : } l; ‘:LTTV . ,%1 1 1 11 ) I | 1 TT\I/ 1 11 !
e o :&i;p S A .

poco @ poce piuanimalo
2

cresc.

h b
> n--npﬂg: LA W) r & > B
1 | 4 | A AN T T & &
P B V] 1 T 11 11 1 T 1T 1 0 4
1 1 2rT T 1= T T T T 0 ok o
+ +—t + nte T L ‘J_-

Jr



3“9 movt. 1 measure before Reh. Kto Reh. M

Tempo 1. wa piu animato.
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dim. ——— poco ril.  poco meno mosso. cantabile.
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